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(A) BENZKBHDM100kN/ MEBZSXE DD DR KIEKN/M) (E) S 3IMEB AR DO HIED ADEKRIEKN/M) e = K R
(B) (N LR BT BB D+ B EDBS(m) (P E)F LHBEM AT 5B D L EE DBHE(m) =rEAR FRTEit RH L ATET
(C) #EN=&LBHA100kN/ MU T DX B DFEI D H DERKIEKN/M) (G) HIESHIMUTORIGEDHIED HDOZAEKRN/M) L nE S
D) C)NLZEEMERT BN LEENZE(m) H) QP LZEEMERTIEEDLEEDSS(m)
FETIHIYVTADEITEEZEDHDOKRES 2ERBRNOTREDOHIOKRES
XnES B &
(A) (B) (©) (D) (E) (F) (G) (H) (A) (B) () (D) (E) F) (G) (H)
(1) - - 793 1.0 - - 97 1.9 - - 731 1.0 - - 9.7 1.9
( 2) - - 62.1 1.0 - - 10.3 20 - - 58.8 1.0 - - 103 20
( 3) - - 779 10 - - 122 24 - - 76.4 1.0 - - 122 24
( 4) - - 554 10 - - 122 24 - - 54.1 1.0 - - 122 24
( 5) - - 95.5 10 - - 93 18 - - 90.7 1.0 - - 9.3 18
(6 ) - - 95.4 1.0 - - 97 1.9 - - 90.7 1.0 - - 9.7 1.9
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